JL_

Subtracting without Regrouping Name:
Solve each problem. Answers
1
) 379 2) 4,488 3 095 4 154
- 151 -1,250 -31 - 32 5
3,
4,
5 9,567 6 59 7) 253 8 5,434 >
-1,321 -31 - 20 - 221 6
7.
8.
9 46 100 762 1) 7,491 12) 38 9.
-32 - 440 - 6,060 - 3
— — — — 10.
11.
12.
13) 614 14) 2,828 15) 68 16) 523 13,
- 502 -1,410 -16 -411
T - T T 14,
15.
16.
17) 1,684 18) 81 199 279 20) 8,233 17
- 23 -20 - 65 - 7,020
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
1 228
1) 379 2) 4,488 3 95 4 154
- 151 -1,250 -31 - 32 2 3238
228 3,238 64 122
3 64
4 122
5 9,567 6) 59 7 253 8 5434 > 8246
- 1,321 -31 - 20 - 221 . 8
8,246 28 233 5,213
7 233
8. 5213
9 46 100 762 11) 7,491 12) 38 J 14
-32 - 440 - 6,060 -3 322
14 322 1,431 35 10
11 1431
12 35
13) 614 14) 2,828 15) 68 16) 523 13. 112
- 502 -1,410 -16 -411
112 1418 52 112 e 1418
15. 52
16. 112
17) 1,684 18 81 19 279 20) 8,233 - 1661
- 23 -20 - 65 -7,020
1,661 61 214 1,213 18. 61
19. 214
0. 1213
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting without Regrouping Name:
Solve each problem. Answers
122 322 14 8246
233 3238 28 1431 1
228 64 35 5213
2.
) 379 2) 4,488 3 95 4) 154 3.
- 151 - 1,250 - 31 - 32
- - - - 4,
5.
6.
7.
8.
5 9,567 6 59 7) 253 8 5,434 9.
- 1,321 -31 - 20 - 221
- - - - 10.
11.
12.
9 46 100 762 1) 7,491 12) 38
- 32 - 440 - 6,060 - 3
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